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Examination: End Semester Examination October/November 2023 (UG Programmes)

Programme code: 02 . _ . Eolniats

Programme: Bachelor of Commerce in Accounting FYB.AF Semester: |
and Finance

Name of the Constituent College: Name of the Department :
S K Somaiya College Accounting and Finance
Course Code: Name of the Course: Financial Accounting |
Duration : 2 Hrs. Maximum Marks : 60

Instructions: 1)Draw neat diagrams 2)Assume suitable data if necessary 3)all calculations are a
part of the working note

Question Max. Co Attainment

No. Marks
‘Q.IA. Mr. A, proprietor of ABC & Co. is a publisher of ABC News | (05) COl
Journal. The Journal received Rs.75,000 as subscription in the
current year on 1 April 2022 for next 5 years, under a special
scheme. Mr. A would like to know whether the entire income
should be recorded in the current year ended 31 March 2023.

Q.1.B. PK Ltd. acquired a plant at Cash Price of Rs. 150,000, delivered | (05) COol
on Ist January 2002, on the following hire purchase terms:

An initial payment of Rs. 40,000 payable on delivery: and four
yearly installments of Rs. 32,000 each commencing from end of
the year.

If the interest rate is 7% per annum. show the calculations for
interest and repayment amounts in a schedule.

Q.LC. Rakesh Jha buys a car on hire pu1chase with a down payment Rs | (05) COS
2,00,000. Cash price of the car is Rs 10,00,000 including RTO
. charges and all. The balance amount is paid in 4 equal annual
installments of Rs2,63,390 charging interest at 12% per annum.
prepare the schedule indicating break up of installments into
principal and interest.

Q.2.A. The Trial Balance Mr. Lakhamichand is as below, Prepare final | (15) CcO2
accounts for the year ended 31-12-2017.

. DLbl[ Balances Rs Cledlt Balances PR
Cashinhand | 1000 "Capital Account 41,860
Mé&h}h'é{y' """""""" 30,000 Sales i1,38,780
'b}élb]h'gs'"""""""’;éfs'bb' """ RDD. 560
Factory, Powerand 450  Sundry Creditors 8,800 |
fuel R i e —— :
Ofﬁce Salaries 6,225 i . ;
c';l'rié;g?c'b'd{&a{{é;'""Es'b'o'""'";'"7 """""""""
LI\}{AAH{G{Q{&[ ing wages 9300 1T o e :

humtule and Fixture 3,400




'FOpeninU Stock : r f
" Finished goods Mooo T AR
iy i ey T TR I R
CRaw Materials @800 G .
'c' arriage Inwards | 1.000 """"""""""""""""""
riL'l{({‘FL{L{é{ vy Yoo T )
'Si{n'd[ y Debtors | W0 I
‘Advertisement s """"""""""" =
'15}{ri£{rig'é£ ooy o 1 St NSRS NN
ﬁé&’t&‘y’ T T R A e
'15{1}&}{5;&'6% T BLE0 § i ow foia
Matenal :
'é'a}é}{c'é'é{ Bank | 530 1T
'r')]'sé'dﬁ{ni'/'{ Ty a7 R SUNSCTINTIINES RE
’M‘ iscellaneous ! o JE T
Ez(pe_r.lﬁ_e_s ............................................... TN
1 ,90,000 11,90,000
B T e e e o

Closing Stock: Finished Goods Rs.6, 500, Raw Materials Rs.750
and Work-in-progress Rs.4,750.

Depreciate Machinery at 15% p.a., Motor Car at 20% p.a.,
Furniture and Fixtures at 15% p.a.

Outstanding office salaries Rs 3000

OR

.| Following is the Trial Balance as on 31st December 2017 of

Gupta Traders. They operate under three divisions X .Y & Z
with independent unit looking after each department:

...............................................................

PParticulars Debit Rs. Cxednt Rs.

Nir. Gupta’s Capital """""""" 1 100,000
e e R e G
TR boooo v
- T 1 R D
IS Jgib',b'd(') """""""""""
e et b Rl ' ol RS TN
. - isich. . Jgé'o',b'd(') """""""""""
A 1Y T R R
oo [ R

...............................................................
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Q.3.A.

X ; '1,00,000

N et s 75000
72 T f
fééié[-i’éé """"""""""""" Jgé's',b'db """" """"""" '
Rent& Rates 5000 7
Seiling & Distribation 9,000 ol
Expenses i e LI
Land & Building 25,000
Fumiture & Fixtures | 10,000 TR
CashinHand 5000 Roseie
CashatBank Hgoge T
Sundry Debtors i o
Sundry Creditors YT 44000

...............................................................

a) Stock in Trade as on 31stDecember, 2017 was : X Rs.

35,000, Y Rs. 25,000 and Z Rs. 20,000.
b) Salaries are to be allocated in the ratio of 40%, 30%, 30%
amongst all the departments.

¢) The floor space occupied by each department is in the
proportion of 40%, 30% and 30%.

.| d) Sclling and distribution expenses are to be allocated on the

basis of sales of each department.
Prepare an income statement in columnar form indicating profits
of each division and balance sheet at the end of the year.

Mr. Bharat Waghela commenced business as a spice Merchant
on lIstJanuary, 2020, with a capital of Rs. 2,000. On the same
day, he purchased furniture for cash Rs. 600. The books are
maintained by Single Entry.
From the following particulars :

a) Prepare cash account for year ending 31-12-20,

b) prepare a Trading and Profit and Loss Account for the

year ending 31st December, 2020 and

................................................................

PdltlculalsR@ _____ ;
Proprictors drawings T L __..240
Sales (including cash sales of Rs, 1,400) L 3,400
fl?u.rs:h%s@&(inq luding cash purchases of Rs. 800) i ..3,000
LS@!@l:i_@s_Qf_S_t_aff._-____-_-_._._.--_-_-____-_-__-____I_____AQQE
Bad Debts written off TR 100;
Business Expenses T 140;
Stock of goods on 31122020 T 1,300
Sundry Debtors on 312122020 T 040
Sundry Creditors on 31-12-2020 """V 720
M. waghela took cloth for personal use 100,

(15)
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Provide depreciation on furniture at 10 per cent per annum.
Assume 12% interest on capital at the end of the year
All workings form part of the answer.

OR

Analyze the following situations and provide solutions based on

your understanding of AS 9:

Mr. Shah, proprictor of Shah & Co. has sent some goods to Ms
Radha on COD (cash on delivery) basis on 25 March 2023. State
whether sales should be booked in the current year ended 31
March 2023 or not - a) cash has been received on 29 March
2023; or (b) cash has been received on 2 April 2023.

Smriti Ltd has three divisions established in a 3 storey building
with each floor of same size occupied by each division A,B & C.
The total light points on ground floor occupied by division A is
20 whereas it is 40 points each for second and third floor
occupied by divisions B & C. A common manager looks upon
all three divisions spending 60% time in Division A and 20 %
time in each of division B and C. You are required to calculate
how to allocate following expenses based on the information
iven below:

Particulars

Division A
In RS

Division
B
In Rs

Division
@
In Rs

Sales

30.000

60,000

60.000

Purchases

40,000

10,000

10,000

division

Value of machinery in

Rs 10 Lacs

Rs 5
Lacs

Nil

Other expenses are:
Sales expenses Rs15,000
Electricity charges Rs 40,000

| Insurance premium of office premises Rs. 18.000

Insurance premium of machinery Rs 21,000

You are required to indicate how to allocate expenditure among
the departments in a table format . A Columnar format Income
statement is not expected from students.

(5)

(10)

COl

CO4

Q.4A.

Q.4.B.

On Ist January, 2003 Kavita Ltd. purchased Machinery on Hire-
Purchase System from Jaya Traders for Rs. 26,000. They paid
Rs. 2000 on signing the contract and four annual installments of
Rs. 6,000 plus interest at 20% per annum each at the end of
every year . Depreciation was written off at a rate of 10% per
annum on the diminishing balance system.

Prepare following Ledger accounts in the books of Kavita Ltd
for all 4 years: a) Jaya Traders and b)Machinery account

Explain how initial recognition and measurement of Property,
Plant and Equipment is to be made as per AS 10.

OR

(10)

(5)

Co5

Co1




Q4.0

Prepare department trading and profit and loss account for
tWo departments, viz., chairs department and dolls department
for the year ended 3 [-3-2008.

Particulars

Opening stock: BN

Chairs 75,000

Dolls 25,000

Raw material consumed:

Dolls plus chair 1,80,000

Stores consumed 45,000

Wages:

Dolls 15,007

Chairs 30,000

Advertisement 7,500

Packing expenses (dolls) 3,000 o

Office expenses 24,000

Depreciation:

On factorz 16,000

On building €quipment 8,000

Sales:

Chairs 4.,50,000

Dolls 90,000

Closing stock:

Chairs 60,000
30,000 i

e e ]
Dolls

Given that:

(a) Doll making does not require any equipment.
(b) Only 1/8th of the building is occupied by dolls dept.

(c) Divide office €Xpenses in the ratio of 51 between chairs
and dolls dept. respectively.

(d) Value of raw material used by dol]s dept. is " 10,000.
(e) Divide stores consumed on the basis of raw material used.
€3] Advertisement expenses be allocated appropriately. ‘i
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C=ztober 2023

Examination: In Semester Examination (UG Programmes)
Programme code: 02
Programme: Bachelor of Commerce in Accounting and Class: FYBAF Semester: |
Finance
Name of the Constituent College: S K Somaiya College | Name of the Department: Accounting
and Finance
Course Code: Name of the Course: Financia! Accounting [
Duration : 1 Hr. Maximum Marks : 20

Instructions: 1)Draw neat diagrams 2)Assume suitable data if recessary 3)attempt 2 out of 3
questions

L
Question ' Max.
Ne. Marks
Answer ANY TWO of the following questions: (10 marks each) 1 (10)

Shah is a proprietor who maintains books of accounts under single entry. On 1st
Q.1.(a) y : - . )
July, 2021 his position was as under-

Liabilities | R Assets Ks.
Sundry creditors 14,300 Machinery | 20,000
e e ARSI IR o S WY
Shah | 35,000 Sundry debtors 11,000
~ Furniture 2,000
fPrepaid insurance 300
e S

During the year ended 30t J une, 2022 shah had drawn Rs 8,500 for their
private purposes. On 30" June, 2022 (he assets and liabilities were:

Sundry debtors : L 12,600
Stock 1 1a008
Cash at bank B 4,500
if_’_r_g;paid insurance 200
Sundry ereditors | 13,700
Iixpenses owing 600

You aie required to calculatc the profi and lesses for the year ended 30™ June
2022,

QL. (b} Prepare manufacturing A/¢c |, Tiading Account and Profit nnd loss Ale fro’:‘n the | (10)
~ -~ . > s Y o

fellowing balances of Sobam Traders jor the vear enaed 31 Deceraber 2023,
Stocks at 1 January 2923:

: SH AN
Raw materials 25,400
X > 2 498
Work 1n progress 31,100

oy i L T Ty
c Finisned googs 25,200




Purchases: Raw materials 91,500

Carriage on raw materials 1,900
Direct labour 84,200
Office salaries 33,400
Rent 5,200
Office lighting and heating 4,400
Depreciation:

Works machinery 10,200
Office equipment 2,300
Sales 318,600
Factory fuel and power 8.100

a)Rent is to be apporticned: Factory 3/4; Office 1/4. _

b)Stocks at 31 Decembe: 2013 were: Raw materials Rs. 28,900; Work in progress
Rs. 24,600; Finished goods Rs. 28,840.

¢) Other details : i)Discount received Rs. 2,350  ii)Bad debts Rs. 3,400

Q.1.(c)

The stock of material held on 1 January 2023 was 700 units @ 70 per unit. The
following receipts and issues were recorded. You are required to prepare the
Stores Ledger Account, showing how the value of stock would be calculated
both under the FIFO and WAM method:

- 03 Jan 2023 Purchased 1C0 units (@ Rs. 72 per unit
- 06 Jan 2023 Issued 500 units
- 07 Jan 2023 Purchased 700 units @ Rs. 74 per unit
- 13 Jan 2023 Issued 300 units
_ . 19 Jan 2023 Purchased 400 units @ Rs. 70 per unit
- 20 Jan 2023 Issued 600 units
- 21 Jan 2023 Purchased 800 units @ Rs. 72 per unit
- 22 Jan 2023 Issued 700 units
- 24 Jan 2023 Issued 100 units
- 25 Jan 2023 Purchased 500 units @ Rs. 75 per unit
- 27 Jan 2023 Issued 400 units
- 30 Jan 2023 Purchased 300 units @ Rs. 80 per unit

1
|

(10)
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Semester End - October 2023

Examination: End Semester Examination October/November 2023 (UG - Programmes e

Programme code: 02
Programme: Accounting and Finance

Class: FY

Semester: |

Name of the Constituent College:
S K Somaiya College, Somaiya Vidyavihar University

Finance

Name of the Department: Accounting and

Course Code:

Name of the Course: Cost Accounting -

Duration: 2 Hrs.

Maximum Marks: 60

Instructions:

1) Figures to the right indicate full marks for each question.
2) Start new question on a new page.

Question
No.

Max.
Marks

Co

Attainment

Q.1
)

Answer the following: (5 marks each)
A) Classify the following items on the basis of:
1. traceability to product (Direct or Indirect Cost) and
2. on the basis of behavior (fixed or variable or semj variable)
Cost of cotton in textile industry.
Direct wages.
Director’s fee.
Factory security staff wages
Free samples

(i)
(i)
(iii)
(iv)
(V)

B) The following information in respect of a component is extracted from
the books of M/S Tolany brothers, for the year ending 31st March 2023.
Maximum usage in a month 1200 Units

Minimum usage in a month 800 Units

Normal usage in a month 900 Units

Time lag in procurement of materials :
months. Reorder Quantity 3000 Units
You are required to calculate:

1. Reorder Level

2, Maximum Level

Maximum 6 months, Minimum 2

C) Differentiate between Financial Accounting and Cost Accounting.

(15)

CO1.CO2,
CO3

Q2. A]

A company manufactures a product XYZ and provides the following
information:
a) Demand of Product XYZ is 2,000 units per month.
b) Raw Material required per unit of finished product - 2 kgs.
¢) Purchase price of input materials - Z 50 per kgs.
d) Ordering cost per order - ¥ 90.
e) Annual carrying cost - 12%.
Calculate Economic Order Quantity and Number of Orders to be placed
by using Formula Method

(08)

CO2

Q.2. B]

From the following information you are required to work out the earnings
of worker A under:

a) Halsey premium scheme (Bonus 50% of savings)

b) Rowan premium scheme

His normal basic rate of wages was ¥ 80 per day of 8 hours and his
dearness allowances was 7 240 per week of 48 hours.

07)

co2




——

Job Time allowed Time taken .
X 26 hours 20 hours
k § 30 hours 20 hours
OR
Q2.C] |LG L?d. manufactures a special product “Z” and provides you the | (08) CO2
following information:
Quarterly Demand 1,500 units
Ordering cost per order %70
Inspection cost per order %20
Semi Annual Carrying Cost 10%
Purchase Price of Input Unit %30 per kg.
Raw Material required per unit for Finished Goods | 2 kgs.
Calculate:
a) Economic Order Quantity (By Formula Method).
b) Number of Orders to be placed
Q.2.D] | Calculate the total earnings of two workers under Halsey Premium Plan (07) CO2
and Rowan Premi e Plan from the following particulars:
Standard Time Allowed 50 Hours
Rate of wages %10 per hour .
Actual Time Taken Worker Amar : 45 Hours
Worker Bharat: 30 Hours
Q.3.A] | Monarch Ltd. has four production departments, P, Q, R, S and one service | (08) coR

department S1. The following details are extracted from the books of
accounts in respect of indirect expenses incurred during March, 2023:

Particulars Z
Electric Power 2,00,000
Supervision 4,00,000
Insurance on Stock 1,60,000
Lighting 1,80,000
Employer’s liability of employee’s insurance 60,000
Repairs & Maintenance 3,50,000
Rent 2,50,000
Depreciation 4,20,000

Following further details are collected for the distribution of the above
overheads:

J Departments
Particulars P 9 R 3 31
Direct Materials 70,000 60,0000 50,000 40,000 10,000
Value of Plant (%) 2,00,000; 1,80,000 1,60,000 1,00,000 60,000;
Light Points (Nos.) S0) 40 35 30 25
Floor space (Sq. Meters) 1,400, 1,2000 1,100 900 400
Total Wages (%) 1,00,000f 80,000, 50,000, 50,000 20,000
Value of Stock (%) 1,50,000 1,00,000, 50,000 20,000 -
No. of workers 250 300 100 100 50
H.P. of Machines 200 300 100 200 200

Prepare a statement showing the Primary Distribution of Overheads.




(%

3B]

From the following particulars, compute Machine Hour Rate:

Cost of Machine %2.,50,000

Depreciation 15% p.a. on original cost

Power consumption 2 units per hour | @ % 0.75 per unit

Insurance 310,000 p.a.

Repairs ¥5,000 p.m.

Consumable stores 32,500 p.m.

Rent ¥3,00,000 p.a.

Supervisor’s Salary $1,30,000 p.a.

Estimated working hours 2,400 p.a.

Non-productive setting up time of | 20% of estimated working hours
the machine o

The machine occupies %™ of the total area. The supervisor is expected to
devote '/s™ of his time for the machine.

OR

(@

Q.3.C]

The Trading, Profit, and Loss Account of XYZ Manufacturing company
for the year ending 31st December 2022 was as follows:
Trading, Profit and Loss Account
for the year ended 31st December, 2022
Dr Cr
Particulars 2 Particulars %

To Raw Material Purchased 2,40,000 | By Sales (7500 Units) (7,50,000

To Direct Wages 90,000 | By Closing Stock of 15,000

To Direct Expenses 75,000 Raw Material

To Factory Expenses 1,20,000

To Gross Profit ¢/d 2.40.000

Total | 7,65,000 Total |7,65,000

To Office Salaries 75,000 | By Gross Profit b/d 2,40,000

To Office Rent 36,060 | By Dividend received 30,000

To Selling Expenses 37,500 | By Discount received 22,500

To Preliminary Expenses W/Off. 7,500

To Goodwill W/Off, 16,500

To Net Profit ¢/d 1,20.000

Total | 2,92,500 Total [2,92,500 |

For the year 2023 it is estimated that-

1) Units produced and sold will rise by 20%.

2) Price of Raw Material per unit will rise by 10%.

3) Direct wages per unit will increase by 25%.

4) Direct expenses per unit wiil remain the same.

5) Factory expenses per unit will increase by 25%.

6) The office premises which were on rental basis in 2022 would by
purchased by company on which depreciation would by % 6,000 in
2023.

7) Selling expenses per unit will remain the same.

You are required to prepare a statement showing estimated cost and profit
for the year ended 31st December 2023, considering that the company
will charge a profit at 16 3% on sales

(15)

e

Q.4. A

GST Ltd. has furnished the following information from the financial books
for the year ended 31st March, 2023:

Trading, Profit and Loss Account

Particulars g Particulars Z
To Opening Stock 10,000By Sales (1900 units) 2,39,400
(Finished Goods 100 units)

To Raw Material 83,2008y Closing Stock 20,000

((Finished Goods 200units)

as)

CO4




To Direct Wages 60,600By Commission received 1,400
To Factory Expenses 40,720By Bad Debts recovered 480
To Office and Administration 33,800By Net Loss 1,440
Expenses
To Selling and Distribution | 28,000
Expenses
To Goodwill W/Off 2,400
To Loss on sale of Investment 4,000

Total2,62,720 Total 2,62,720

The following information is revealed from the cost records for the year

ended 31% March, 2023:

1) Raw Material consumption is Z 40 per unit of production.

2) Direct Wages are 70% of Direct Material.

3) Factory overheads are recovered @ 50% of Direct Materials.

4) Administrative overheads are taken @ 20% of works cost.

5) Selling and Distribution overheads are recovered @ Z 15 per unit.

6) Opening stock of finished goods is valued at Z 101.80 per unit.

7) Closing stock of finished goods is to be valued at cost of production.

8) Selling Price is recorded atZ 125 per unit

Prepare:

1. Detailed cost statement showing Total Cost and per unit cost and also
find out the total profit and per unit profit.

2. Statement of Reconciliation.

OR

Q.4.B]

Solar manufacturing company submits the following information on 31*
March, 2023.

Z

Sales for the year 5,50,000
Inventories at the beginning of the year were:-
Finished Goods 14,000
Work in progress 8,000
Purchases of raw material for the year 2,20,000
Raw material at the beginning of the year 6,000
Raw material at the end of the year 8,000
Direct labour 1,90,000
Factory overhead was 60% of direct labour
Inventories at the end of the year were:-

Work in progress 12,000

Finished goods 16,000
Other expenses:-

Selling expenses 10% of sales

Administration expenses 8% of sales

You are required to prepared Cost Sheet for the year ended on 31*' March,
2023.

(15)

CO3
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Examinatien: In Semester Examination (UG Programmes)

Programme code:
Programme: BAF ]
Name of the Constituent College: S K Somaziya Coliege | Name of the Department: Accounting
and [Finance

Class: FY Il Semester: |

Course Code: Name of tlic Course: Cost Accounting
Duration : 1 Hr. Maximum Marks ; 20
Instructions: 1) Figures to the right indicate ti:2 full marks.
2) use of simple calculator is ailoved =]
Question ; Max.
No. . Marks
Attempt any two out of three questions:
B The Accounts of Jindal Manufacturing Co. for the vear ended 31 December | (10)
“ 2012 show below. Prepare cost Sheet for the foliowing:
Particujors Rs
Works Office salaries 6,500
Administration Office Suiaries 12,600
Cash Ciscount allowed 2,900
Carriage outward 4,300 |
Carriage Inward 7,150
, Bad debts are written off 6,500
| Repairs to plant and machinery 4,450
Rent, rates. Insurance, et-. factory 8,500
Rent, rates, Insurance, ¢fe. Office 2,000
Sales 4,61,100
Stock of Raw Materials-
1°" January, 2012 48,009
31* December, 2012 62,300
l Material Purchesed 1,85,000
' ’ Traveling Experses 2,100
Productive wages 1,26,000
Travelless' salaries and commission 7,700
Depreciaticn on Plant and Machinery 6,500
| Depreciatioi on Office furniture 300
' Directors’ fees 6,000
Gas and Water (faciory) 1,200
Gas and Weter (Office) 400 ;
Manager’s salary (Y the office, % factorv) | 10,000
General Lxpenses 2,409 ;
| j
Q2 _ From the following pasticu’ars you are requireG to veork cut the earnings of (10}
. a worker fora week ur.der
I (a) Straight piece rate,
i (b) Different:al piece rate,
i (c) Halsey preminm scheme (50% sha Hap), li
i {d) Rowan premivm scheme. .




ay

80%

Weekly working hours - 48

Hourly wage rate - Rs. 30

- Piece rate per unir - Rs. 12
Normal time taken per piece - 20 minutes
Normal output per week - 120 pieces
Actual output for the week - 130 pieces

Differential piece rate

of piece- rate when output below normal &

120% of piece rate when output above normal
Assume that the worker is assured of time wages for 48 hours per week
although the work was done in 40 hours.

Q.3

A firm’s
period is
Price per
Rs. 8 per

You are 12

inventory planning is one year. Jts inventory requirement for this

6,400 units. Assume that its order costs are Rs.100 per order.
unit of material is Rs. 80. The carrying costs are expected to be
unit per year for an item.

The firm can procure inventories in various lots as follows:
(i) 3,200 units
(i1) 1,600 units,
(ii1) 800 units
(iv) 400 units and
(v) 2960 units
quired to calculate Economic order Quantity using:
() Table Method :
(i)  Equation Method.

(10)
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Examination: End Semester Examination October/November 2023 (UG - Program

Programme code: 02 . ' Class: FY Sextiester: 1 o e
Programme: Accounting and Finance

Name of the Constituent College: Name of the Department: Accounting

S K Somaiya College, Somaiya Vidyavihar University and Finance

Cogiee Code; Name of the Course: Cost Accounting - I

Duration: 2 Hrs. Maximum Marks: 60
Instructions:

1) Figures to the right indicate full marks for each question.
2) Start new question on a new page.

I Question Max. Co

| No Marks fttainment

' Q.1 Attempt the following: (5 Marks each) (15) | Co1,co2
. A) Classify the following items on the basis of:- &CO3

1. Functions (office or factory or selling & distribution) and
2. Traceability (direct or indirect cost)

a) Purchase of Raw material 60,000

b) Audit Fees T 12,000

¢) Depreciation of Delivery Van % 4,000
d) Salesmen’s Commission Z 8500

e) Heating, lighting & Power Z 12,000

B) On the basis of the following information, Calculate the earnings of
and Aman on the straight Piece Rate Basis and Taylor’s Differential Piece
Rate System.

Standard Production : 50 units per hour

Normal Time Rate  : Z 16 per hour

Differential to be applied : 80% of Piece Rate below standard
120% of Piece Rate at or above standard
Q In a9 hour day, Suman produces 420 units and Aman produces 500 units.

C) Discuss the advantages of cost accounting:
i) to the consumer and
ii) to the management.

Q.2. A] | The following information is available: (08) CO2
Normal Consumption : 300 units per day
Maximum Consumption : 420 units per day
Minimum Consumption 240 units per day
Re-order Quantity 2 3600 units per day
Re-order period ; 10 to 15 days
Normal Re-order period 12 days
Calculate: -

a) Maximum Stock Level

b) Minimum Stock Level

¢) Recording Level

d) Average Stock Level

Q.2.B] | Find out EOQ from the following information:- 07) CO2
- Annual Consumption 15,000 k.g.




7 | Cost of Placing an order Z48 :
/| Cost of Raw Material Z 2 per kg.
Storage Cost 8% of average Inventory
3 rd You are required to ascertained Economic Order Quantity
: 4 OR L
Q.2.C] | From the following particulars calculate the total earning of the three (08) CO2
workers under Merrick Differential piece rate system.
Normal rate per hour Z 10 per unit
Standard production per hour 20 units
In an 8 hours a day:
A produced 140 units
B produced 180 Units
C produced 130 Units
D produced 220 Units
Q.2.D] | In the engineering concern, the standard time allowed to manufacture an | (07) CO2
article is fixed at 10 hours and the wage rate is ¥ 20 per hour. An operator
completes 10 articles in 80 hours.
Calculate his total wages under:
1) Halsey Premium Plan
2) Rowan Premium Plan .i
Also calculate cost if material cost of the article is Z 240 and the factory
overheads are 400% of direct wages.
Q.3.A] | Amit Company has five department P, N, R, S & T. The actual cost for | (08) CO2
the period are as follow:
Particulars Z
Repairs 70,000
Rent 62,500
Depreciation 35,000
Supervision 42,000
Insurance 48,000
Employers Liability of Employees Insurance 30,000
Light 90,000
The following data are also available regarding the five department:
Particulars P N R S 1
Area (Square foot) 140 120 110 90 40
Number of workers 15 25 15 10 3 .
Total wages (%) 10,000 | 8,000 | 5,000 5,000 | 2,000
Value of Plant (3) | 20,000 | 18,000 16,000 | 10,000 | 6,000
Value of Stock (3) | 15,000 | 10,000 5,000 | 2,000 --
Prepare a statement of Primary Distribution of Overhead.
Q.3.B] | Company has three production dept. and two service dept. and for the | (07) CO2
period the departmental distribution summary shows the following figures
of overheads.
I' Production dept. Service dept. ‘\
P Q R S1 82
Z 1,600 Z 1,400 ¥ 1,000 Z 468 2600 |
The expenses of service dept. are charged on a percentage basis as
follows.
Particulars P Q R S1 i
Service dept. X 20 40 30 - 10
Service dept. Y 40 20 20 20 -
Prepare a statement showing the apportionment of two service dept.
expenses to production dept. by Repeated distribution method.
OR
- Q.3.C] | Prepare a Reconciliation Statement from the following cost sheet and (15) CO4




f’f related Trading A/c and Profit and Loss A/c to Match the Profit with that

/7 | of Cost Sheet.
/ . Particulars Z
/f Purchase of Raw Material 3,000
Less: closing Stock of Raw Material 500
Raw Material Consumed 2,500
Add: Direct Wages 1,000
Prime Cost 3,500
Add: Work overheads 3,000
Work Cost 6,500
Add: Administration Overheads 1,500
Cost of Production 8,000
Add: Selling and Distribution Overhead | 2,200
Cost of Sales 10,200
Add: Profit 9,800
Sales 20,000
Trading & Profit and Loss A/c
Dr Cr
Particulars g Particulars T
. To Purchases 3,000 | By Sales 20,000
To Wages 1,000 | By Profit on sale of
To Indirect wages 500 Assets 1,000
To factory expenses 2,000 | By Closing Stock of
To Administrative expenses | 1,000 Raw Material 500
To Sales Expenses 2,000
To Distribution Expenses 1,000
To Interest 50
To Bad Debts 100
To Net Profit 10,850
21,500 21,500
Q.4.A] | From the followir.g particulars of Cosmetic Product, you are required to | (08) CO3
prepare a Cost Statement for the month of August 2023,
Particulars Z
Raw Materials: -
' -Opening Stock 40,000
-Closing Stock 20,000
Purchases 3,00,000
Direct Labours 1,60,000
Factory Overhead 45,000
Office and administration overhead 58,000
Finished Goods: -
-Opening Stock 1000 units @ %11.20 per unit.
-Closing Stock 3000 units at current cost price
Profit on sales 20%
Selling and Distribution expenses 40,000
Units produced (50,000 units)
Q.4.B] | From the following figures, prepare a Reconciliation Statement and 07) CO4
determine financials profit:-
%
Net profit as per costing Books 66,760
Factory overheads under-recovered in costing 5,700
Administration overheads recovered in excess 4,250
Depreciation charged in financial books 3,660
Depreciation recovered in costing 3,950




Interest received but not included in the costing 450 e |
F, Income tax provided in financials books 600
j Bank Interest credited in financial books 230
Fé OR
)ﬂi* Q.4.C] | From the following Prepare a Cost Sheet: (15) CO3
Particulars T

Opening Stock of Raw Material 1,20,000

Opening Stock of Work in Progress 45,600

Opening Stock of Finished goods 86,400

Wages Direct 83,200

Wages Indirect 4,400

Purchase of raw material 1,05,600

Sales 3,37,500

Factory Rent and Power 24,000

Depreciation on Plant and Machinery 5,600

Carriage Inward 2,400

Factory Expenses 16,000

Office Rent and Rates 4,000

Office Expenses 10,400

Carriage outward 4,000 .
Commission & Advertising 16,000 )
Closing Stock of Raw Material 1,46,400

Closing Stock of Work in Progress 56,000

Closing Stock of Finished Goods 49,600
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Examination: End Semester Examination November 2023 (UG Programmes)

Programme code: 02

Programme: Bachelor of Commerce in Accounting and | Class: FY Semester: [
Finance
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& Finance

Course Code: Name of the Course: Statistical Techniques & Logical Reasoning

Duration : 2 Hrs. Maximum Marks : 60

Instructions: 1)Draw neat diagrams

2)Assume suitable data if necessary
3)Non-programmable calculators are allowed

Question Max. Co
No. Marks | Attainment
Ql. A. After what period of investment under simple interest would a
principal of Rs. 25,200 amount to Rs. 32,697 at 8.5% rate of S Col1

interest?
B. Fit a straight line using regression for the following data giving

the annual demand (in thousands) of a company. Estimate the - ik
profit for the year 2006.

Years 2001 | 2002 | 2003 | 2004 | 2005

Demand 36 49 54 56 62

C. From a deck of 52 cards. 5 Co03

a. If two cards are drawn, what is the probability that
atleast onc of the cards is a face card?

b. If one card is drawn, what is the probability that the

selected card is king under the condition that a red card
has already been selected.




Q2.

A. Farhan’s father wants to accumulate Rs. 2 lakh for his child
education at the end of 5 years from now. How much
should he invest periodically every month at the rate of
interest of 6% p.a. compounded monthly yearly?

B. A person deposits Rs. 5000 in a bank for 4 years. What is
the rate of interest if the compounded amount is Rs. 65547

OR

C. For the following data given below:

Class Interval 0-10 | 10-20 | 20-30 | 30-40 | 40-50

frequency 12 23 . 19 15

a. Evaluate mean, mode and median.
b. Calculate third percentile.

15

Co1

Co1

Co02

Q3.

A. A random variable X has the following probability distribution :

X 0 1 2 3 4 9

P | 2k | k | 2k | k242K | 4k

a. Findk.
b. Compute mean and variance
c. Evaluate P(X <2).

Sk*+2k

OR

B. When a coin iz tossed ten times.

a. What is the probability of obtaining less than three heads
b. What is the probability of obtaining more than five
heads?

C. The time by which local trains get delayed follows normal
distribution with average time 10 minutes and standard
deviation 2 minutes. What is the probability that:

a. atrain gets delayed for more than 15 minutes.

b. a train gets delayed for less than 7 minutes.

c. atrain gets delayed between 5 minutes to 12 minutes.
Also, find the delay time above which only 25% of local trains
are there.

15

10

Co03 q

Co03

Cco03

Q4.

A. If A + B means A is the mother of B, A - B means A is the sister
of B, A * B means A is the father of B and A # B means A is the
brother of B. Identify the blood relation between Nand M ?

N#P-L+E-M

N-Y+A#M
M-Y *P-N
N#C+F*M

0can o

N is grandfather of M

10

Co04




B. Identify the correct paper when it is unfolded for the following -

----------------------------------

===y

OR

C. Find the missing number in below given number series -
a, 6,13.20,27 34,77
b. 2,5.11,23,47,2,?
¢ 3,7,15,31, 63,77
d. 3,32,7,28,11,24,15,20,2,9
e. 3,4,4,6,12,15,45,7,196
D. Read the following information carefully and find the seating
arrangement. Six friends A, B, C, D, E and F z-¢ sitting on a
bench, facing
towards the North.
1. A issitting next to B.
C is sitting left to D.
D is not sitting with E.
E is on the left end of the bench.
C is third position from right.
A is on the right side of B and to the right side of E.
A and C are sitting together.
F is sitting Right of D.

P NG A L

10

Co4




STANDARD NORMAL DISTRIBUTION: Table Values Represent AREA to the LEFT of the Z score.

Z .00 .01 02 - .03 .04 .05 .06 .07 .08 .09
0.0 | .50000 .50399 .50798 S1197 51595 51994 .52392 52790 53188  .53586
0.1 [ .53983 .54380 54776 55172 55567 55962 .56356 .56749 57142 57535
0.2 | .57926 58317 . .58706  .59095  .59483 .59871 .60257 .60642 61026  .61409
03 | .61791 .62172 .62552 62930 63307  .63683 .64058 .64431 .64803  .65173
0.4 | .65542 65910 - 66276  .66640  .67003 .67364 .67724 .68082 .68439  .68793
0.5 | 69146 ~.69497  .69847 70194 70540  .70884 71226 71566 71904 72240
0.6 | 72575 72907 . .73237 73565 ..73891 74215 .74537 74857 75175 75490
0.7 | .75804 76115 76424 76730  .77035 77337 77637 77935 78230 78524
0.8 | .78814 .79103 79389 79673 79955 .80234 .80511 .80785 .81057 81327
0.9 | .81594 .81859 .82121 .82381 .82639 82894 .83147 .83398  .83646 83891
1.0 | 84134 .84375 .84614 84849 85083 .85314 .85543 85769 85993 86214
1.1 | .86433 .86650 .86864 87076  .87286  .87493 .87698 .87900  .88100  .88298
1.2 | .88493 .88686 88877 89065  .89251 .89435 .89617 .89796  .89973 90147
1.3 | .90320 .90490 90658 90824  .90988 91149 91309 91466 91621 91774
14 | 91924 .92073 92220 92364 92507 .92647 92785 92922 93056  .93189
1.5 | 93319 .93448 93574 93699  .93822 .93943 .94062 94179 94295 94408
1.6 | .94520 .94630 94738 94845 94950  .95053 95154 95254 95352 95449
1.7 | 95543 95637 95728 95818  .95907 95994 .96080 96164 96246 96327
1.8 | .96407 .96485 96562 96638 96712 .96784 .96856 96926 96995 97062
1.9 | 97128 97193 97257 97320 97381 97441 .97500 97558 97615 97670
2.0 | 97725 97778 97831 97882 97932 97982 .98030 .98077 98124 98169
2.1 | 98214 98257 98300  .98341 .98382 98422 .98461 98500 98537 98574
2.2 | 98610 .98645 98679 98713 .98745 98778 .98809 98840 98870  .98899
23 | .98928 .98956 98983  .99010  .99036 .99061 .99086 99111 99134 49158
24 | 99180 .99202 99224 99245 99266 .99286 .99305 99324 99343 99361
25 | 99379 .99396 99413 99430 99446 99461 .99477 99492 99506  .99520
2.6 | .99534 .99547 99560  .99573 99585 .99598 .99609 99621 99632 .99643
2.7 | 99653 99664 99674 99683  .99693 99702 99711 99720 99728 99736
2.8 | 99744 99752 99760 99767 99774 99781 99788 99795  .99801 .99807
2.9 | .99813 .99819 .99825 .99831 .99836 99841 .99846 .99851 99856  .99861
3.0 [ .99865 99869 99874 99878  .99882 .99886 .96889 99893 99896  .99900
3.1 | .99903 .99906 99910 99913 99916  .99918 99921 99924 99926 99929
3.2 | 99931 .99934 99936  .99938  .99940 .99942 .99944 99946  .99948 99950
3.3 | 99952 .99953 .99955 99957 99958 .99960 .99961 99962 .99964 99965
3.4 | 99966 .99968 99969 99970 .99971 .99972 .99973 99974  .99975 .99976
35| 99977 99978 99978 99979 99980 .99981 .99981 99982  .99983 99983
3.6 | 99984 .99985 99985 99986  .99986 .99987 99987 99988 99988  .99989
3.7 | .99989 .99990 99990  .99990  .99991 99991 99992 299992 99992 99992
3.8 .99993 .99993 .99993 99994 99994 99994 .99994 .99995 99995 199995
3.9 | 99995 .99995 99996 .99996  .99996 .99996 .99996 99996 99997 99997

<

-
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nstructions: 1)Draw neat diagrams
2)Assume suitable data if necessary
3)Non-programmable calculators are allowed

Question Max. I Co
No. . Marks | Attainment
Q1. A. Compute the compound amount and interest on a principal of 5 Co1

Rs. 6000 at 7.5% p.a. after 7 years.
B. The analysis of past 3 year data revealed that the average price
of stock A is 56. while the average price of stock B is 127.

g Additionally, the variance of stock A was determined to be 16,
whereas the variance of stock B was found to be 64. Determine
which stock shows greater consistency.

C. Ifacoin is tossed three times, event A represents obtaining 5 Co3

\. heads on the first flip, while event B represents obtaining tails

on the third flip. Determine whether events A and B are

independent.

5 C02

Q2. A. Find the principal and rate of interest if a certain principal
amounts to Rs. 10700 in 1 year and to Rs. 11449 in 2 years 8 Col
under compound interest.

B. Pushpa wants to accumulate Rs. 10 lakh for buying the van 7 Co1

' at the end of 5 years from now. How much should he invest
every year at the rate of interest of 15% p.a. compounded

half yearly?

OR




C. For the following data given below:

Class Interval 0-10 | 10-20 | 20-30 | 30-40 | 40-50

Cumulative 12 23 32 40 50
frequency

a. Evaluate mean, mode and median.
b. Calculate third decile.

o2

A. Three students carry 6 red pens, 4 black pens: 4 red pens, 6

black pens, and S red pens, 5 black pens respectively. One of the
students 1s selected at random and a pen is taken from them.
a. Find the probability of black pen being taken from the
first student.
b. If the pen taken is red, find the probability that it is taken
from the first student.

. If COVID is detected in 80% of cases, and 5 people are selected

at random.

a. Construct the appropriate random variable ‘X’ which
follows Binomial distribution with success & failure
probability.

b. What is the probability of getting at least 3 persons with
COVID?

c. What is the probability of getting exactly 2 COVID
persons?

OR

. If a dice 1s rolled twice with A being an event of getting odd

number in the first throw and B being an event of getting
multiple of 3 in the second throw. Check whether A and B are
independent events ?

. The life span of fans follow normal distribution with Average

life of 10 years and standard deviation of 4 years. What is the
probability of:

a. getting a fan working for more than 15 years.

b. getting a fan working for less than 7 years.

c. getting a fan working between 5 years to 12 years.
Also, find the life span above which only 15% of fans are there.

10

Cco3

Co3

Co3

Q4.

. TfM #N means M is the daughter of N, M % N means M is the

son of N, M @ N means M is the sister of N and M § N means
M is the father of N. Identify the blood relation between C and E
5

C%B@FSE

E#F$SB%C

C@B%FSE

E%BS$F$C

C is the granddaughter of L.

/o oP

«Q

10

Co4




B. Sara started walking from a point. facing in the North direction.
After walking 20 meters. she turned to her right and walked 30
meters, before turning to her lett. Then, she walked a distance of
40 meters, turned to her left and stopped after walking further a
distance of 15 meters. Find how far Sara is from her starting
point.

OR

C. Find the missing number in below given number series -
a. 6,12,24,48,?,?
b. 2 i 17,37, 77,7,
e 3, 10, 21,36, 55, ?, ¥
d. ]6, 21, 39, 64, 96, ?, ?
e. 5, 16,45, 104, 209, ?
D. Five friends P, Q, R, S, and T are sitting in a row facing east.
1. Pissitting next to Q.
R is sitting left to S.
S 1s not sitting with T.
T is on the right end of the row.
R is at the third position from the left.
P is on the right side of Q and to the right side of T.
P and R are sitting together.
8. T is sitting to the right of S.
Find all possible seating arrangements using the above
information.

N AR L

10

Co4

Co04
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STANDARD NORMAL DISTRIBUTION: Table Values Represent AREA to the LEFT of the Z score.

Z .00 .01 .02 .03 .04 .05 .06 .07 .08 .09
0.0 | .50000 .50399 50798 51197 51595 51994 .52392 52790  .53188 53586
0.1 | .53983 .54380 54776 55172 55567 .55962 .56356 .56749 57142 .57535
0.2 | .57926 .58317 58706  .59095 .59483 59871 .60257 .60642 .61026 .61409
0.3 | .61791 62172 62552 62930  .63307 .63683 .64058 .64431 .64803 65173
0.4 | .65542 .65910 .66276  .66640  .67003 .67364 .67724 .68082  .68439 .68793
0.5 | .69146 .69497 69847 70194 70540 .70884 J1226 71566 .71904 72240
0.6 | .72575 72907 73237 73565 73891 74215 74537 74857 75175 75490
0.7 | .75804 76115 76424 76730 77035 71337 77637 17935 .78230 78524
0.8 | .78814 79103 79389 79673 79955 .80234 .80511 .80785 .81057 81327
0.9 | .81594 .81859 82121 .82381 .82639 .82894 .83147 .83398  .83646  .83891
1.0 | 84134 .84375 84614 84849 85083 85314 .85543 85769  .85993 86214
1.1 | .86433 .86650 .86864  .87076  .87286 .87493 .87698 87900  .88100 .88298
1.2 | .88493 .88686 .88877  .89065 .89251 .89435 .89617 89796  .89973 90147
1.3 | .90320 .90490 90658  .90824  .90988 91149 91309  .91466 91621 91774
1.4 | 91924 .92073 92220  .92364  .92507 .52647 92785 .92922 .93056 93189
1.5 | -.93319 .93448 93574 93699  .93822 .93943 .94062 94179 .94295 .94408
1.6 | .94520 .94630 94738  .94845 .94950 .95053 95154 95254 95352 95449
1.7 | .95543 95637 95728 95818 95907 .95994 .96080 96164 96246 96327
1.8 | .96407 .96485 96562 96638 96712 96784 .96856 .96926 96995 .97062
1.9 | 97128 97193 .97257 97320  .97381 .97441 .97500 .97558 .97615 97670
2.0 1 .97725 97778 97831 97882 97932 .97982 98030 98077 98124 98169
2.1 | 98214 .98257 98300  .98341  .98382 .98422 98461 98500  .98537 98574
2.2 | 98610 .98645 98679 98713 .98745 98778 .98809 .98840 .98870 .98899
2.3 | 98928 .98956 .98983 99010  .99036 .99061 .99086 99111 99134 99158
2.4 | 99180 .99202 99224 99245 .99266 .99286 .99305 99324  .99343 .99361
2.5 | 99379 99396 99413 99430  .99446 .99461 .99477 .99492 .99506 .99520
2.6 | 99534 .99547 99560  .99573 .99585 .99598 99609 99621 99632 99643
2.7 | .99653 99664 99674 99683 99693 99702 99711 99720 - ..99728 99736
2.8 | 99744 99752 99760  .99767 99774 .99781 .99788 99795 .99801 99807
29 | 99813 .99819 99825  .99831 .99836 99841 .99846  .99851 .99856 .99861
3.0 | .99865 .99869 99874  .99878 99882 .99886 99889 .99893 99896 .99%00
3.1 | .99903 99906 99910  .99913 99916 99918 99921 99924 .99926 99929
3.2 | 99931 .99934 99936  .99938 .99940 .99942 99944 99946 .99948 .99950
33| .99952 99953 99955 .99957 99958 .99960 .99961 .99962 .99964 .99965
3.4 | .99966 .99968 99969 99970  .99971 .99972 99973 99974 99975 .99976
3.5 | 99977 99978 99978  .99979 99980 .99981 .99981 .99982 99983 99983
3.6 | .99984 99985 99985 99986  .99986 .99987 .99987 .99988 .99988 .99989
3.7 | .99989 .99990 99990  .99990  .99991 .99991 99992 - . 99992 .99992 99992
3.8 | .99993 .99993 .99993 .99994 .99994 .99994 99994 99995 99995 .99995
3.9:5] 99995 .99995 99996 99996 .99996 .99996 99996 99996 .99997 .99997
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Question
No.

Max.
Marks

Co
Attainment

Ql. A.

Find the principal for which the simple interest for 8 years at
7.5% is 825 less than the simple interest for 6% years at 10.5%.
The mean mark of 100 students was given to be 40. It was found

later that a mark 53 was read as 83. What is the corrected mean
mark ?

. If a dice is rolled twice with A being an event of getting prime

in the first throw and B being an event of getting multiple of 3

in the second throw. Check whether A and B are independent
events ?

Co1

Co02

Co3

e A.

For the following data given below:

Class Interval 0-10 | 10-20 | 20-30 | 30-40 40-50

frequency 1d f 21 19 15

B.

a. If the mean is 26.5, find ‘f’.
b. Evaluate mode and median.
c. Calculate third quartile.
OR
Thakur lent Rs. 2560 to Jay and Rs. 3650 to Veeru at 6%

rate of interest. After how many years should he receive a
total simple interest of Rs. 1863?

If ABC bank offers 7% rate of interest compounded half
yearly and XYZ bank offers 6.8% rate of interest

compounded quarterly. Identify which bank offers the best
offer.

15

Co2

Co1

Co1




. Find the probability that in 10 throws of a fair die a score which

1s a multiple of 3 will be obtained in at least 8 of the throws.

. Eggs laid by a particular chicken are known to have lengths

normally distributed, with mean 6 ¢cm and standard deviation 1.4
cm. What is the probability of:

a. finding an egg bigger than & cm in length.

b. finding an egg smaller than 5 cm in length.

¢. finding an egg between 4 and 7 ¢cm in length.

Also, find the length above which only 20% of the total eggs are
laid.

OR

. A random variable X has the following probability distribution :

X l 2 3 4 X3 6

P(x) | 3k | k | 2k | 2k*+k | 5k* | 3k*+2k

a. Find k.
b. Compute mean and variance
¢. [Evaluate P(X <5).

10

Co3

Co3

Q4.

If A+ B means A is the father of B; A - B means A is the
brother B; A % B means A is the wife of B and A x B means
A is the mother of B, then identify the blood relation
between M and T?

a. MxNO9%S+T

b. MXN-S%T

c. TxN-S%M

d. MXNXS%T

e. M is the grandmother of T.

. Five girls are sitting on a bench to be photographed. Seema is to

the left of Rani and to the right of Bindu. Mary is to the right of
Rani. Reeta is between Rani and Mary. Find all possible seating
arrangements.

OR

. Answer the following directional problem with drawing as

instructed in the questions -

a. Ravi put his timepiece on the table in such a way that at
6 P.M. hour hand points to North. In which direction the
minute hand will pointat9.15 PM. ?

b. A man walks 5 km toward the south and then turns to the
right. After walking 3 km he turns to the left and walks 5
km. Now in which direction is he from the starting
place?

D. Find the missing number in below given number series -

a. 7.10.8,11,9,12,2,?

b. 9,11,33,13,15,33,17,2,7
c. 2549.121,169, 2,2 ‘
d. 1.305,26.9,22,13.18,2,?
e. 4.18.72,100, 180, 294, 448

10

10

Co4

Co4

Co4

Co4




STANDARD NORMAL DISTRIBUTION: Table Values Represent AREA to the LEFT of the Z score.

Z

.00

.01

.02 .03 .04 .05 .06 .07 .08 .09
0.0 | .50000 .50399 .50798 51197 21595 51994 52392 .52790 53188 .53586
0.1 | .53983 .54380 .54776 53172 .55567 .55962 .56356 .56749 57142 57535
0.2 | .57926 58317 .58706 .59095 .59483 59871 60257 .60642 .61026 .61409
03 | .61791 62172 .62552 .62930 63307 63683 .64058 64431 .64803 65173
04 | .65542 .65910 .66276 .66640 .67003 .67364 67724 .68082 .68439 .68793
0.5 | .69146 .69497 69847 70194 70540 70884 71226 71566 71904 72240
0.6 | .72575 712907 13237 73565 73891 74215 74537 74857 75175 75490
0.7 | .75804 JToll5 76424 76730 .77035 17337 77637 77935 78230 78524
0.8 | .78814 79103 79389 79673 .79955 .80234 80511 .80785 .81057 81327
0.9 | 81594 81859 .82121 .82381 .82639  .82894 .83147 .83398 .83646 .83891
1.0 | .84134 .84375 .84614 .84849 .85083 85314 85543 85769  .85993 .86214
1.1 | .86433 .86650 .86864 .87076 .87286  .87493 .87698 .87900 .88100 .88298
1.2 | .88493 .88686 .88877 .89065 .89251 .89435 .89617 .89796 .89973 90147
13 | 90320  .90490 .90658 90824 90988 91149 91309 91466 91621 91774
14 | 91924 .92073 .92220 .92364 92507 92647 92785 92922 .93056 .93189
L5 [ .93319 .93448 93574 93699 .93822 .93943 .94062 94179 .94295 .94408
1.6 | .94520 .94630 .94738 .94845 94950 95053 95154 95254 95352 .95449
1.7 | 95543 .95637 95728 95818 95907 95994 .96080 96164 96246 .96327
1.8 | .96407 .96485 .96562 96638 96712 .96784 96856 .96926 96995 .97062
1.9 | 97128 97193 97257 .97320 97381 97441 .97500 .97558 97615 97670
2.0 | 97725 97778 97831 97882 97932 97982 .98030 .98077 98124 98169
2.1 | 98214 98257 .98300 98341 .98382 .98422 98461 .98500 .98537 .98574
2.2 | 98610 .98645 .98679 98713 .98745 98778 .98809 98840  .98870 .98899
2.3 | 98928 .98956 .98983 99010 .99036 .99061 .99086 99111 99134 99158
2.4 | 99180 .99202 99224 99245 99266 99286 .99305 99324 99343 .99361
2.5 | 99379 99396 99413 .99430 99446 99461 99477 .99492 .99506 .99520
2.6 | .99534 .99547 .99560 .99573 .99585 .99598 .99609 .99621 .99632 .99643
2.7 | 99653 99664 99674 .99683 99693 99702 99711 99720 .99728 99736
2.8 | 99744 99752 .99760 99767 99774 99781 .99788 99795 99801 .99807
29 I 99813 99819 .99825 99831 99836 .99841 .99846 99851 .99856 .99861
3.0 | 99865 .99869 .99874 .99878 .99882 99886 .99889 .99893 .99896 .99900
3.1 | .99903 .99906 .99910 99913 99916 99918 .99921 99924 .99926 99929
3.2 | 99931 .99934 .99936 .99938 99940 99942 .99944 99946 .99948 .99950
3.3 | .99952 .99953 .99955 99957 .99958 .99960 99961 .99962 .99964 .99965
3.4 | 99966  .99968 .99969 .99970 99971 99972 .99973 99974 99975 .99976
3.5 | 99977 99978 99978 .99979 .99980  .99981 .99981 99982 .99983 .99983
3.6 | 99984 99985 .99985 .99986 99986 .99987 99987 .99988 .99988 .99989
3.7 | 99989 .99990 .99990 .99990 .99991 99991 99992 99992 99992 99992
3.8 | 99993 99993 .99993 .99994 99994 99994 .99994 .99995 .99995 99995
3.9 | .99995 .99995 .99996 .99996 99996 .99996 .99996 99996 .99997 .99997
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Semester (July 2023 to October 2023)

Examination: End Semester Examination October/November 2023 (UG/PG Programmes)
Programme code: 02

Programme: BAF

Class: FYBAF Semester: |

Name of the Constituent College: S K Somaiya College N.ame Uk the Depustment: Acecontng
Finance

Course Code: Name of the Course: Fundamentals of Economics.

Duration: 2 Hrs. Maximum Marks: 60

Instructions: 1)Draw neat diagrams 2)Assume suitable data if necessary

Question Max. Co
No. Marks Attainment
Q.1 Solve the case study given below — (5 Marks each)
e 15 1,234
‘ Economics 1s the branch of social science that studies the production,

exchange, distribution, and consumption of goods and services. In
general, economics is a subject which deals with human behaviour,
Economics studies economic human behaviour scientifically. It studies
how humans try to optimise (maximize or minimize) certain
objectives under given constraints. For example, it studies how
consumers, with given income and prices of the commodities, try to
maximize their satisfaction.
A) Explain how the consumers maximize their satisfaction with
. limited resources. %)
B) Explain how the producers maximize profit with limited
resources. ®)
C) Discuss the difference between producer theory and consumer
theory. 5)

Q2 Answer any one of the following: 15 12
A) Analyze the concept of consumer equilibrium in case of single
commodity and two commodities.
‘D OR
B) Derive an Engel Curve for different types of goods in the economy.
Q3 Answer any one of the following: 15 3
A) Design the three stages of returns to scale.
OR
B) Design the Cost Curves in a short run.

Q4 Answer any one of the following: 15 4
A) Explain the competition and antitrust policy in India

OR

B) Elaborate on the concept of New Economy with Flow Chart.
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Examination: End Semester Examination November 2023 (UG Programmes)
Programme code: 02 Class: FY
Programme: BAF BAF
Name of the Constituent College: S K Somaiya College | Name of the Department :
Accounting and Finance
Course Code : Name of the Course: Corporate Finance — I
Duration : 1 Hrs. Maximum Marks : 30
Instructions: 1)Draw neat diagrams 2)Assume suitable data if necessary 3)

Semester: [

Qu;sot.ion l\ﬁiﬁs Attai(l:l(:nent
1A Z Company have provided following information. 10 CO2
‘ Particulars Book Value | Market Value | Specific Cost
0 Debt 2,00,000 3,80,000 5%
Preference Shares 2,00,000 1,10,000 8%
Equity Shares 7,00,000 12,00,000 13%
Retained Earnings 1,00,000 - 9%

Determine Weighted Average Cost of Capital considering market
value of sources.

OR

X Ltd has equity share capital of ¥ 5,00,000 divided into shares of Z 10
100 each. It wishes to raise further Z 3,00,000 for modernisation of its
plant. Company has following financing alternatives.

1B Cco

1&3
1. Tssue of Shares only at par.

2. % 1,00,000 by issuing shares at par and % 2,00,000 10%
’ Debentures.

You are required to suggest best alternative assuming EBIT after
expansion is ¥ 1,50,000 and tax rate 35%.

. By borrowing from bank at 10%

2A Following is financial data provided by Ashok Ltd for year ended 31 10

Mar 2023.

Contribution as % of Sales : 25%
Interest : 20,00,000

Operating Leverage : 5 : 1

CO4

Financial Leverage : 3 : 1
Tax Rate : 40%

You are required to prepare income statement based on above
information.

OR




2B Following information is available from X Ltd. You are required to | 10 cO4
calculate EPS, Operating Leverage. Financial Leverage and Combined
Leverage.
Particulars X Ltd
Sales (in units) 30,000 units
Selling price 25 per unit
Variable Cost 20 per unit
Fixed Cost Z.50,000
Interest Z 35,000
Tax % 40
No of Equity Shares 10,000
3A K Ltd. issued 5,000 equity shares of ¥ 100 each at a premium of 10%. 5 CO2
The company has been paying 20% dividend to Equity Shareholders.
Calculate cost of equity capital.
3B Calculate cost of retained earnings with following information for Z 5 CO2

Ltd.

Return for equity shares is 15%, Tax rate 40% and brokerage is

expected at 2%
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Semester (November 2023)

Examination: End Semester Examination November 2023 (UG Programmes)
Programme code: 02 Class: FY Selmaers]
Programme: BAF BAF - ’

Name of the Constituent College: S K Somaiya College | Name of the Department :

Accounting and Finance
Course Code : Name of the Course: Corporate Finance — I
Duration : 1 Hrs. Maximum Marks ; 30

Instructions: 1)Draw neat diagrams 2)Assume suitable data if necessary 3)

Quesion &
1A i A Company have provided following information. 10 CO2
Particulars Book Value | Specific Cost
d Debt 4,00,000 5%
r Preference Shares 1,00,000 8%
Equity Shares 6,00,000 13%
Retained Earnings 2,00,000 9%
Determine Weighted Average Cost of Capital.
OR
1B Jay Ltd has following capital structure. 10 CO
Particulars Amount | 1&3
Equity Share Capital (Face Value Z100) 20,00,000
Retained Earnings 10,00,000
9% Preference Share Capital 12,00,000
! 7% Debentures 8,00,000

The company requires additional 2 25,00,000 to finance expansion
program for which following alternatives are available.

1. Issue of 20,000 Equity Shares at a premium of 25 per share.
N 2. Issue of 10% Preference Shares.

3. Issue of 8% Debentures.
The EBIT after expansion is expected at 12% of capital employed.
The company pay tax @ 50%.

You are required to suggest most suitable capital option on the basis of
EPS.

2A X Ltd provided its operational data. It have reported Sales of T 10 CO 4

50,00,000 per annum. Variable costs are 75% of sales. Fixed Cost are




Ll

% 8,00,000.
You are required to calculate operating leverage, financial leverage,
combined leverage under the following situations.
1. Company borrows 9% Bank loan % 10,00,000
2. Company issue 10% Debentures % 12,00,000
OR

2B

Z Ltd. needs % 5,00,000 for construction of new plant. It had following | 10 CO
3 options. 1&3
a. Company may issue 50,000 Equity Shares at Z 10 per share.
b. Company may issue 25,000 Equity Shares at ¥ 10 per share
and 8% 2500 Debentures at 100 each.
¢. Company may issue 25,000 Equity Shares at ¥ 10 per share
and 8% 2500 Preference Shares at 100 each.
Tax rate for the company is 50%. If EBIT of the company is Z100,000.
Calculate EPS and suggest which of the 3 options should be selected.
3A You are required to calculate operating & Financial Leverage from 5 CO4
following information.
Particulars
Sales 20,000 units
Selling price 15 per unit
Variable Cost 10 per unit
Fixed Cost Z30,000
Interest % 15,000
3B Y Ltd. issued 1,00,000 i4% Debentures of ¥ 100 at 10% discount. 5 CO2

It also incurred flotation cost at 5%. Tax rate is payable at 40%.

You are required to calculate cost of debt.




